Solving Trigonometric Equations

Solve the trigonometric equation below and give only the
solutions that lie in the interval 0 < z < 2.
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Solve the trigonometric equation below expressing all
solutions using radian measure.

V3 — cos(—z) = cosz
= x= ' + LA,
cosx = 2, y:

xX= WU + &M k=260,2,3 o2
&



Strategies for Solving a Trigonometric Expression.

1. Add or subtract a quantity to both sides of the equation.
2. Factor an expression.

3. Multiply by a common denominator.

4. Take the square root of both sides of an equation.

5. Square both sides of an equation.

6. Use identities.

7. Use inverse trig functions™®

*Be careful to consider the range of the inverse trig functions.

Solve the trigonometric equation below expressing all
solutions using radian measure.
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Solve the trigonometric equation below and express all
solutions that lie in the interval [0, 27).
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Solve the trigonometric equation below and express all
solutions that lie in the interval [0°, 360°).
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Solve the trigonometric equation below expressing all
solutions using radian measure.
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